EXAm 3, Sp

A, Nomenciature: (12 polms
Give an acceptablc IUPAC name for each of the following compounds. Be sure 1o indicate the

stereéochemistry where appropriate.
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B. Facis: 20 poinis ‘Q\ F"H’ /}JOV\

1. Placs the latter of the more stable resonance contributor for the enolate anion in the box. (2 pts))
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2. Rank the foliowing compounds in order of increasing acidity. (1=least acidic, 3=most acidic) (6 ptsf
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3. F.é‘?the following compounds in order of increasing acidity. (1=lsast acidic, 3=most acidic) (6 pts.)4/1/ ﬁ'/i)
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C. Reactions: Total = 30 points, 5 points sach _
Please provide the starting material, reagents or major product in the answar box. Be sure your drawing
indicates stereochemisiry if appiicable. Partial credit is awarded only when intermediate products in a
multi-step reaction are shown below the reaction.

Ve )
o 1. CHaCHolli {2 eq.) o /LO

1 M 2 HaO” C
OH '

o (O | M

1. NHg
O

2. SOCl, (X8)

3. LiAlHg (XS) - = (CHY — (i oy
4. H30+4(DE’HZO) N\*z_ p) Q a’i)3k b3
i —
2 ;
1T oy —> — %)
oy NCJ—CCHaE—~61C[ A

3. H)O K/\/C[?\ocri3 W@Rg/b% /HL +é/@ H)O l\/\/OH

Pt —

: 2) L4 Al “%%\@ =
+ +
H@%MH 3 Hod' (1ot

L



1 NaOEt/EtOH

O 0
(‘ &-ocH, O_C‘-g?_ag
3. HaO/ HEAT

o0~ e
W{’: _ocHz @' CGC#;’ - p[\
— ‘{_\__,'3,

) L
G

"0

O
&O N It
5. CHaCHy-G-CH,CHy ; H;i: > Cwﬁé\gﬂ{ C‘%HLC{.;S
) . 4 Sy
3 CH,CH é(’)"" | e :
L ’ C -
3772 7 AL OH ity @ ?M
- - ) CH,opt — h__\!
0 @ . Cf 4 C‘*CH 4
_ '2"2;’”
| O OEt
> OFE+ 1. NaOEV EtOH L
l 2. H3O+ o - 7 '
0 0
(Ept)



B. Mechanism: (13 points )

Provide a clear mechanism to explain the formation of the product. Use curved arrows to indicate "electron
flow". Remember io show only one siep at a time. Show alt intermediates and all forma! charges.

When more than one resonance contribuior may be drawn, be sure o draw the most stable
contributor. -
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E. Synthesis: 13 Points [

Synthesize the molecuie below using any of the following reagents: benzene, aicohols of three % %%Fs or
less, any inorganic reagents, any oxidizing or reducing agents, and any peroxya\wlds
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F. Spectroscopy: 12 Points

A compound with the formula C7H 4405 exhibits the iR, "H NMR and proton decoupled T3¢ NMIR spectra
shown below. Please identify this compound and draw the structure in the box provided below.
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